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public class BankAccount {

private double balance;
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public class BankAccount {

-

/ public double getBalance() {

°)

}

public long getAccountNumber() {

e o ,

}

public Customer getOwner () {

R ~ .

private double balance;
private long accountNumber;
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private Customer owner;
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public void setBalance(double balance) {
this.balance = balance;
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public void deposit(double amount) { | this.balance -9 91w
balance += amount;
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* Withdraw amount from the account

* @pre PPPPPPPPPPPPPPPPPPPPP? PPPPPPPPPPPPRP?

¥ @post PP PR PR R R R R R R R R PR R R R R RRRRRRRRRRRRR?

*/
public void withdraw(double amount) {

balance -= amount;
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public void deposit(double amount) {

balance += amount;

}
/**

* Withdraw amount from the account
Xk

* @ppe @ < amgunt <= getBalan€e<>
* @post getBalance() == $prev(getBalance()) - amount
%/
public void withdraw(double amount) {
if (amount < @ || amount > getBalance()) {
System.out.println("Invalid withdrawal amount: "+
amount) ;

return;

}

balance -= amount;

} -[A1ANN NIdN ‘2 NNWOKX I
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/>l<>l<
* Makes a transfer of amount from one account to the other
* @pre O < amount <= from.getBalance()
* @post to.getBalance() == $prev(to.getBalance()) + amount
* @post from.getBalance() == $prev(from.getBalance()) - amount
*/
public static void transfer(double amount,
BankAccount from,
BankAccount to) {
from.withdraw(amount);
to.deposit(amount);
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/**
* Makes a transfer of amount from the current
* account to the other one

*/
public void withdraw (double amount,
BankAccount other) {

other.deposit(amount);
withdraw(amount);
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/**
* Constructs a new account and sets its owner and
identifier
* @pre id > ©
* @pre customer != null
* @post getOwner() == customer
* @post getAccountNumber() == id
* @post getBalance() ==
*/
public BankAccount(Customer customer, long id) {
accou umber = 1id;
owner stomer;
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/**

Constructs a new account and sets its owner and identifier
@pre id > ©

@pre customer != null

@pre initialBalance >= 0

@post getOwner() == customer

@post getAccountNumber() == id

@post getBalance() == initialBalance

* ¥ ¥ ¥ % *x *

*/
public BankAccount(Customer customer, long id,
double initialBalance) {
this(customer, id);
balance = initialBalance;
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public class CurrentClass {

public static void myPublicStaticMethod() {
System.out.println("In myPublicStaticMethod");

private static void myPrivateStaticMethod() {
System.out.println("In myPrivateStaticMethod");

public void myPublicMethod() {
System.out.print("In myPublicMethod >> ");
myPrivateMethod();

N'aNId NTINNN N'OID NTINN? ARNP
(0TOa NT 19NN DA)

private void myPrivateMethod() {
System.out.println("In myPrivateMethod");
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public class OtherClass {
public static void othersPublicStaticMethod() {
System.out.println("In othersPublicStaticMethod");

private static void othersPrivateStaticMethod() {
System.out.println("In othersPrivateStaticMethod");

public void othersPublicMethod() {
System.out.print("In othersPublicMethod >> ");
othersPrivateMethod();

private void othersPrivateMethod() {
System.out.println("In othersPrivateMethod");
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CurrentClass-7 main q'on

public class CurrentClass {

public static void main(String[] args) {
CurrentClass.myPublicStaticMethod(); // Prints: In myPublicStaticMethod
myPublicStaticMethod(); // Prints: In myPublicStaticMethod

CurrentClass.myPrivateStaticMethod(); // Prints: In myPrivateStaticMethod
E CurrentClass.myPublicMethod();

CurrentClass currentClass = new CurrentClass();

currentClass.myPublicMethod(); // Prints: In myPublicMethod >> In myPrivateMethod
currentClass.myPrivateMethod(); // Prints: In myPrivateMethod
currentClass.myPublicStaticMethod(); //Has a warning, Prints: In myPublicStaticMethod

OtherClass.othersPublicStaticMethod(); // Prints: In othersPublicStaticMethod
E othersPublicStaticMethod();
E OtherClass.othersPrivateStaticMethod();

OtherClass otherClass = new OtherClass();
otherClass.othersPublicMethod(); // Prints: In othersPublicMethod >> In othersPrivateMethod
E otherClass.othersPrivateMethod();
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Instance vs. Class (static) Flelds

Instance fields
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Class (static) fields
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public class BankAccount {
public static final String BANK NAME = "BNP"; //static constant
private static int lastAccountId = 0; //static field
private int id;

public BankAccount() {
id = ++lastAccountId; // unique ID for every account

}

/* static method */
public static void main(String[] args) {

System.out.println(lastAccountId);
X System.out.println(id); _
BankAccount account = new BankAccount();
System.out.println(account.id);

}

/* instance method */

public void printStuff() {
System.out.println(lastAccountId);
System.out.println(id);
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